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1. Match the following lists :
List-I
(@) Laffer curves
(b) Lorenz curvé
(¢) Kinked Demand curve
(d) Offer curve
List-II
(@) Inequalities
(ii) Reciprocal Demand
(zit) Public Revenue
(iv) Rigid Price
Choose the correct code :
@ b)) (o d)
(A) @) (@) Gu) (o)
(B) @) @ () @)
©) @ O Gv) D)
(D) @i @ () @

TBC : AKG-AP(CC)ECO.-2018

The condition of Pareto optimality

holds correct under :

(A) Monopoly

(B) Monopolistic Competition
(C) Oligopoly

(D) Perfect Competition

Who among the following economists
emphasized the role of non-economic

factors in explaining growth ?

“(A) N. Kaldor

(B) R. Harrod
(C) R.M. Solow
(D) J.R. Hicks

If a linear consumption function
passes through the origin, it implies

that :
(A) APC < MPC

(B) APC > MPC

(C) APC = MPC

(D) None of the above
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TBC : AKG-AP(CC)ECO.-2018
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(A) APC < MPC
(B) APC > MPC
(C) APC = MPC

D) STdF d § HIE &
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Who has used ‘Spring of Mineral
water’ analogy in explaining price-

output decisions under oligopoly ?
(A) Stakelberg

(B) Cournot

(C) Edgeworth

(D) Hall and Hitch

Which of the following is the most

important recommendation of the

classical economists to solve the

problem of unemployment ?
(A) Reducing population

(B) Large increase in public

expenditure
(C) To reduce real wages

(D) To reduce money wages

TBC : AKG-AP(CC)ECO.-2018

Which of the following would be

termed as a case of joint-demand ?
(A) Tea and coffee

(B) Pen and Pencil

(C) Toothpaste and toothbrush
(D) Ghee and refined oil

According to ‘resource-curse

hypothesis’, there is :

(A) Direct relationship between
natural resources and human

resources

(B) Inverse relationship between
natural resources and human

resources

(C) Inverse relationship between
natural resources and economic

growth

(D) Inverse relationship between
human resources and economic

growth
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10.

L1

Which of the following equations

has been given by Harrod ?

A) G,,. s =C,
B) G, = 22
s
= &
© G, = G

(D) None of the above

Sigma effect has been given by :
(A) Domar

(B) Harrod

(C) Keynes

(D) Kalecki

According to Nurkse, in an

underdeveloped country, the

inducement to invest in limited by :
(A) Lack of savings
(B) Size of the market

(C) Lack of investment

opportunities

(D) Over-consumption

TBC : AKG-AP(CC)ECO.-2018

12. According to Leibenstein, population

13.

growth is a function of :.
(A) Net investment

(B) Gross Domestic Product
(C) Aggregate consumption
(D) Per capita income

Who among the following is credited

with the use of the word ‘regression’
in statistics for the first time ?
(A) Karl Pearson

(B) Spearman

(C) Francis Galton

(D) R.A. Fisher
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14.

15.

Consider the following statements :

Assertion (A) : Urbanisation in

India has

increased rapi-

dly after 2001.
Reason (R) : The wuse of
mobiles is

increasing very

fast in India.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are correct and
(R) explains (A)

(B) Both (A) and (R) are correct but

(R) does not explain (A)
(©) (A) is correct, but (R) is false
(D) (A) is false, but (R)l is correct:
Who the

among following

economists, is associated with

Adapted Expectation Hypothesis 7
(A) Lucas

(B) Keynes

(C) Milton Friedman

(D) John Muth

TBC : AKG-AP(CC)ECO.-2018
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16.

17.

18.

Innovation Theory of Profit is

propounded by :
(A) Hawtrey
(B) Schumpeter
(®) Knighlt
(D) Hawley

Whose name is associated with Net

Barter Terms of Trade ?
(A) Dorrance

(B) J. Viner

(C) James Mill

(D) Taussig

Income Terms of Trade is expressed
by :

Quantity of imports
Quantity of exports

(A)

Demand of Imports
Demand of Exports

(B)

Price of Exports
Price of Imports

(C)

(D) None of the above
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19.

20.

(B) 2,

The new varieties of wheat seeds
were imported from which of the
following countries under the Green

Revolution Era in India ?
(A) Canada

(B) Mexico

(©) USA

(D) Chili

Which of the following concepts are

studied in macro-economics ?
1. Says Law of Market

2. Phillips Curve |

3. Kinked Demand Curve
4. Sun Spot Theory

Choose the correct answer from the

codes given below :
(A) 1, 2 and 4
3 and 4
(C) 1, 3 and 4

D) 1, 2, 3 and 4

TBC : AKG-AP(CC)ECO.-2018

10

21.

22,

Under which of the following
methods of note issue, RBI issues

notes in the country ?

(A) Proportional Reserve System
(B) Fixed Fiduciary System

(C) Maximum Fiduciary System
(D) Minimum Reserve System

Banks are required to maintain SLR

under which Act ?

(A) Section 24 of RBI Act

(B) Section 49 of the Banking

Regulation Act

(C) Section 24 of the Banking

Regulation Act

(D) Mercantile Law
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23.

24.

Reserve Bank of India carries out
open market operations in order to

regulate :

(A) Inflation

(B) Liquidity in the economy

(C) Borrowing powers of the Bank
(D) (A), (B) and (C) all

Which of the following was the main

[ ]

objective of the Fiscal Responsibility
and Budget Management Act,

2003 ?

(A) Achieving Fiscal Surplus
(B) Eliminating Fiscal Deficit
(C) Eliminating Rgvenue Deficit

(D) Checking Money Laundering

TBC : AKG-AP(CC)ECO.-2018
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25.

26.

The H—O theory postulates that as

a result of trade, the differences in

factor prices between nations :

(A) Diminish
(B) Increase
(C) Remain unchanged

(D) All of the above

In 2016, Nobel Prize in Economics

was awarded for :

(A) Contributions to the
understanding of real-life

contracts and institutions

Contributions to behavioural

(B)
economics

(C) Analysing trade pattern and

location of economic activity

(D) Analysing the benefits of

globalisation and privatization
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27.

28.

29.

Which among the following states |

had the lowest percentage of ST

populatidn as per 2011 census ?
(A) Tamil Nadu

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

Which one of the folllowing states has
recorded decrease in population, as

per 2011 census ?

(A) Mizoram

(B) Nagaland :
(©C) Ti‘ipu:_'a

(D) Manipur

Which of the following pairs of cities

recorded the highest population, as

per census 2011 ?
(A) Kolkata and Delhi

(B) Mumbai and Delhi

(C) Mumbai and Kolkata

(D) Bengaluru and Delhi

TBC : AKG-AP(CC)ECO.-2018
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30. Consider the following statements :

Assertion (A): The Census of
India is carried out

every 10 years.

Reason (R) : India’s population
has almost
remained unchan-

ged over the last 20

years.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are correct and

(R) correctly explains (A)

(B) Both (A) and (R) are correct but

(R) does not correctly explain (A)
(C) (A) is correct, but (R) is false

(D) (A) is false, but (R) 1s correct
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TBC : AKG-AP(CC)ECO.-2018
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31. Under Slutsky’s substitution effect,

32.

the consumer :

(A) Moves on a lower indifference

curve

(B) Moves on a-higher indifference

curve

©

Remains on same indifference

curve

(D) All the above three alternatives

are possible

In the case of substitute goods, the

élasticity of demand is :
(A) Zero

(B) Unity

(C) Negative

(D) Positive

TBC : AKG-AP(CC)ECO.-2018
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33.

34.

Which of the following statements

is correct for price-discrimination ?

(A) A firm’s AR curve remains

same

(B} A firm’s MR curve remains

same

(C) A firm’s MC curve remains

same
(D) All of the above are correct
Who

among the . following

economists is associated with

‘Adding-up Problem’ ?
(A) Leontief

(B) Marshall

(8] Keyngs

(D) Wicksteed
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35.

36.

The correction factor for calculation
of coefficient of correlation with tied

ranks is :
(A) (m3 - m)
(B)
(®)

D)

— — M

12

&

In case of perfect correlation, the two

regression lines are :
(A) Parallel

(B) Perpendicular
(C) Coinlcident

(D) Inclined to each other

TBC : AKG-AP(CC)ECO.-2018

18

37.

38.

Fischer’s Price Index Number is the :

(A) Geometric mean of Laspeyre’s

and Kelly’s Price Index Numbers

(B) Arithmetic mean of Laspeyre’s
and Paasche’s Price Index

Numbers

(C) Geometric mean of Laspeyre’s
and Paasche’s Price Index

Number

(D) Weighted Arithmetic mean of
Laspeyre’s and Paasche’s Price

Index Numbers

If the arithmetic mean of two
numbers is 16 and geometric mean

is 12, the harmonic mean will be :
(A) 20
211

(B) 3

(C) 14

D) 9
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38.
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39. The variance of a data set is 16. If

40.

every item is multiplied by 2, then
what would be the variance of the

resulting data set ?
(A) 64

(B) 256

(C) 32

D) 8

The covariance of 10 observations
of variables X ande is 40, and
variance of variables X and Y are

100 and 25 respectively. The

coefficient of correlation is :

(A) 0.16
(B) 0.016
(C) 0.40

(D) 0.80

TBC : AKG-AP(CC)ECO.-2018

20

41.

42.

The opportunity cost theory of

internation trade assumes that :
(A) Labour is homogenous

(B) Labour is the only factor of

production

(C) The price/cost of a commodity
can be determined by the

amount of labour
(D) None of the above

1
If a country’s terms of trade is 9>
the terms of trade of its partner

would be :
(A) 2
(B) 4
) 1

1
D) 5
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TBC : AKG-AP(CC)ECO.-2018 21 P.T.O.



43.

44.

45.

Which of the following is the
assumption of absolute advantage

theory of international trade ?

(A) Labour theory of value

(B) Absence of transportation cost

(C) Absence of technological change
(D) All of the above

The reciprocal demand curve is also

known as :

(A) Offer curve

(B) Laffer curve p
(©) Lf)renz curve

(D) Phillips curve

Which among the following is not
a measure to correct the balance of

payment disequilibrium ?
(A) Devaluation

(B) Revaluation

(C) Deflation

(D) None of the above

- TBC : AKG-AP(CC)ECO0.-2018

22

46.

- 47.

48.

According to Rybczynski theorem,

commodity prices should by :
(A) Increasing

(B) Decreasing

(C) Constant

(D) Either (A) or (B)

The factor price equalisation

theorem is given by :
(A) Haberler

(B) Samuelson

(C) J.S. Mill

(D) Mercantilists

The shape of the production
possibility curve under constant

opportunity cost is :

(A) Upward sloping

| (B) Downward sloping

(C) Straight line

(D) U-Shape
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(D) aforrart

45. Fefafead 4 4 P9 YoE-3 &
STHTE 1 T 7 & HI1Y @ § 2

48. TR g o =t foafg 4, saes

TYET 9% 1 Wed BNl § o

ol ol (A) SR B T g
(B) TrF | B) ¥ = firwer gom
© st e
(D) 39F # ¥ +E T (D) J-3MHR

TBC : AKG-AP(CC)ECO.-2018 23 : P.I.O.



49,

50.

51.

Which of the following is correct for

education ?

(A) Tt is public good
(B) It is social good
(C) It is merit good
(D) It is private good

Which of the following is not a

method for redeeming public debt ?
(A) Capital levy
(B) Sinking fund
(C) Grants-in-aid

(D) Terminal annuities

The displacement effect hypothesis

was formulated by :

(A) Dalton

(B) Peacock and Wiseman
(C) Musgrave

(D) Pigou

TBC : AKG-AP(CC)ECO.-2018
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52. The non-exclusion principle

related to :

(A) Merit goods

(B) Private goods
(C) Public goods
(D) Mixed goods

83.

budgeting for the first time ?
(A) Adam Smith

(B) Peter Phyrr

(C) Findley Shirras

(D) Ragnar Frisch

54.

a public utility ?
(A) Electricity
(B) Water supply
(C) Parks

(D) Tourism

i8

Who proposed the zero-based

Which among the following is not




49, e @ fou, e A A T oAd ¥ 2 | 52. TR-smesa & fagr wafad ©
(A) I8 TH FESiE 9 © | (A) Afe awgsii |

(B) 9% Uw WIS o%q ® B) Frft sgall @

(D) o8 T& freit a%g © (g "PifeR gt

: " 53. —anurfig aeie &1 9d9yd fead
50. Tr=fafaa & & SHH w gEsi-e - A !

. y&difad feam ar ?
she =i fafy & & ?

(A) TEH fmy
(A) st oiE

(B) Trex fimr
(B) =mu-3sieA fAfe

(C) frsar RS
(C) ra™ Ui

(D) TR e

(D) =fi=er =nfiferal

54. Trmfafeg § 9 *E T dEAHS
51. faeom 9@ SukeT N & T ®

EERIEKI] Hﬁf 7?2
(A) T Fw | A) ﬁgﬁ
(B) F&lF W AESEA 5N (B) weI-amaf
(C) weE §M (C) Wk
(D) dr] g/ (D) T

TBC : AKG-AP(CC)ECO.-2018 25 PUIE.



5.

56.

Cohn and Plehn classified public

expenditure on the basis of :
(A) Income

(B) Benefit

(C) Revenue

(D) Utility

Which of the following is a fiscal
policy tool used to stimulate the

economy ?

(A) Reducing inefficient

employment of resources

(B) Increased government

purchases
(C) Increased imports

(D) Higher interest rates

TBC : AKG-AP(CC)ECO.-2018
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58.

57. A monopolist will have the

equilibrium output of his product
where the elasticity of his average

revenue curve is :

(A) Equal to unity

(B) More than unity

(C) Less than unity
(D) Zero

“Inflation is unjust and deflation is
inexpedient. Of the two, perhaps

deflation is the worst.”

The above statement was given by :
(A) A.C. Pigou

(B) J.R. Hicks

(C) J.M. Keynes

(D) Alfred Marshall



55. HIgT 991 ©Ied 1 gesas-99 & =3

" 56.

¥ ¥ fFg omur | aifiea fFa & 2
(A) 3™

(B) gamw

(C) ATH

(D) ST
mﬁ@mmmm
m%sﬁmaﬁe@mw

% fau wam & @ 9 ¥ o

(A FEEE & TR-IHArgel 39Er w6

Fq
(B) TR w4 # gfg won
(C) Il 7 gfg

(D) I=Ta =AT-TL

TBC : AKG-AP(CC)ECO.-2018
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57.

58.

TF THIUFRT & 3707 eI 1 dgferd
o e W Anh el s shww s

o K = BT ¢
(A) THE & AR
(B) 3®E § 3fus
(C) 3%E § &1

(D) =

“gg-Twifa Agfaa ® den SruEwifa
W1ﬁﬁ%mﬁ:mﬁw@r
=E 1" 9% Fwyd fem o ¥ o
(A) T &I 9N BN

(B) I. IR fea gw

(©) i 11‘1 %] g

(D) IATHS HEA R

P.T.O.



5, Wil of thies fiflowing inSiramenis 60. Consider the following statements

about Kisan Credit Card Scheme in
of quantitative control of credit are :

India :

used by RBI ?
1. The Kisan Credit Card Scheme

Choose the correct code : was started in year 2002.

_ ) 2. The scheme provides adequate
1. Margin requirement

and timely credit support to the

2. Open market operations farmers for their cultivation

. needs.
3. (Cash reserve ratio

3. The scheme was introduced

4. Statutory liquidity ratio
based on the recommendations

Codes _ by Sri R.V. Gupta Committee

Of these :
(A) 1 and 2 only

(A) only 1 and 2 are correct

(B) 1, 2 and 3 only
(B) only 1 and 3 are correct

2 d 4 onl
(C) 2, 3 an onsy (C) only 2 and 3 are correct

(D) 1, 2, 3 and 4 all (D) 1, 2 and 3 all are correct

TBC : AKG-AP(CC)ECO.-2018 28



59. frafafea § 9 A9 3UH 9g & | 60. 9RG H fFum sfse &€ g9 & faug

HrTeTR = g TRt e S gR ﬁﬁm?ﬁmwﬁ”“ :

gt Sowrn w5 o 1. forom #fee =€ O a9 2002

ﬁmrr-##rﬂﬁi
7= 7 9 9@ %2 & 99 &g

2. 9% ASAT FERI HI  IARI

1. @S & TEvghard | FHA-3IGA i ST T

T a1 THT R A ST
2. A ISR H THAE ‘

H waedq e B

3. & hIY 37U
| 3. 9% A S IR o wn wihfd &

4. quF qTEd U Gxfadl T eiid gt YREY i
TS o |
&he
. T q ;
(A) 1 91 2 Shad

(A) I 1 99 2 & T
(B) 1, 2 991 3 Had B) Bue 1 o 3 g &

(C) 2, 8 941 4 Had (C) Hae 2 21 3 T&t &

(D) 1, 2, 3 A9T 4 |4t (D) 1, 2 a1 3 Tt &t ®

TBC : AKG-AP(CC)ECO.-2018 29 PT.O.



61.

62.

63.

In which year, SEBI Act was passed

by Indian Parliament ?
(A) 1988
(B) 1991
(C) 1992
(D) 1998

The ecological footprint’s unit of

measurement 1is :

- (A) Nanometer

(B) Cubic ton
(C) Hoppus cubic foot
(D) Global hectares

Small Industries Development Bank
of India is wholly a subsidiary of

which of the following ?
(A) RBI

(B) IDBI

(C) EXIM Bank

(D) NABARD

TBC : AKG-AP(CC)ECO.-2018
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65.

64. Cumulative Frequency Curve may

be used to find the value of :

(A) Median

(B) Mean Deviation

(C) Mode

(D) Kurtosis

Consider the following statements :
1. Ratio of savings t:,o investment
2. Rate of inflation

3. Interest rate on bonds.

According to Milton Friedman, the
velocity of money depends upon

which of the above factors ?
(A) 1 and 2 only
(B) 1 and 3 only
(C) 2 and 3 only

(D) 1, 2 and 3 all



61. o ot B, et W g et AP | 4. el s o o A e &

T Y 2 | MWW R & fog fEer s w7
(A) 1988 (&) “Tifat
(B) 1991
(B) #rea fa=e™
. (C) 1992 |
(C) =g
(D) 1998 :
(D) =Hadi
62. wATaTUE iU &I WY &1 THE
¥ 65. Tmfafed wuHi w fasr wIfST
(A) = 1. =al @ Few 9 I«
(B) ®gferh =1 _ 2. TI-THRIA & R
©) v\ W G 3. WS W ST
(D) TEEE TR foeed WISl & ST ER, H31 & 9o
63. WA =1 @y eheifrw fawr A, | wfa s weA § @ R R ok Fd
f=fafes § @ feas [ @@ g T2
T ?
(A) had 1 991 2
(A) ¥R, Y. oTE. |
(B) @hael 1 @1 3
(B) 3ME. 1. . o |
| (C) wHaa 2 941 3
(C) T S
o
- D 1,273 ¥

TBC : AKG-AP(CC)ECO.-2018 31 P.T.O.



66.

67.

In India, the base year for

calculating GDP has been changed

to :

(A) 2904-05
(B) 2009-10
(C) 2011-12
(D) 2013—14

The slope of the LM curve depends

upon which of the following ?

(A) Interest elasticity of demand for

money
(B) Interest elasticity of investment
(C) Interest elasticity of income

(D) (B) and (C) both

TBC : AKG-AP(CC)ECO.-2018
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68.

69.

(A)

(B)

(C)

(D)

In the long-run, the autonomous

consumption will be :

(A) Zero

(B) Infinity

(C) Remain unchanged

(D) Decline but will remain positive

Which one of the following pairs is

not correctly matches ?
I I
Devaluation — Policy action by the

government

Deflation @ — Cheap money policy
Exchange — Foreign exchange
control rationing
Exchange - Market mechanism
depreciation



66. WA #, Wwd W SOR (1. . d.) | 68. <TER H, wWrE™ Sude @R o

F1 YUR-T8 IZAHRL HI e T 7 (A) 3
(A) 2004-05 (B) o4
(B) 2009-10 (C) STt 38

(D) =M T GRS ol

(C) 2011-12
69. Tr=afafaa & § == gm gafaa =&
(D) 2013-14
¥
67. LM-5% % @t £t § & frg | fnke
I II
I § ?
_ (A) 3TETed — &R gR Aifaaies
(A) I AN F -
= feram
(B) &% =1 =N-<=9 a ac R
(C) o™ Ft =rS-T= (C) fafrm frem — el fafma o
(D) (B) d&1 (C) A W (D) fafma s - IeR-9=

TBC : AKG-AP(CC)ECO.-2018 33 P.T.0.



70. Which one of the following is not a

Tl

traditional source of energy ?
(A) Atomic energy

(B) Biomass

(C) Coal

(D) Petroleum

Consider the following statements
about Malthusian Theory of

Population :

(1) Supply of foodgrains increases

in geometric progression.

(2) The population grows in

arithmetic progression.
Choose the correct code :
(A) only 1 is correct
(B) only 2 is correct
(C) 1 and 2 both are correct

(D) none of the above

TBC : AKG-AP(CC)ECO.-2018
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72.

73.

The Transition

Demographic
Model was developed primarily to

explain :

(A) Effect of population movement

from rural to urban areas

(B) Population changes caused by
large short-term changes in

birth rate

(C) Effect -of changing death and

birth rates on total population

(D) Social and cultural changes
resulting from high level in-

migration
What is reflected by wage-offer

curve ?

(A) Reflects offered work at

prevailing wage-rate

(B) Reflects offered wage-rate for
work
(C) Reflects a combination of

leisure, work and wage

(D) Both (B) and (C)



70.

71.

frefafea § 9 $9E TF Soll &l
T W e © 7

(A) enfras S

(B) <EM™E

(C) wrFen

(D) Tfer™

ey & SEE fagra & favm J

wyEl W =R Eh"rﬁf'z :

(1) wEr= g i sgEd §
et B

(2) sEn # iy SHTE ST
# 2t T

WE HZ N TIA FHIEQ

(A) Bod 1 §& ®

(B) Hod 2 W&l ¥

(C) 1 @en 2 3 WE ®

(D) Sudd H ¥ HE

TBC : AKG-AP(CC)ECO.-2018
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72.

73.

SR GHa Hied ® ged ¥4 9
frr 1 @ forgent = A 2q fawfaa

foren T @ ?

(A)W%Wﬁﬂsmmﬁm%ﬁ
¥ el &6 W g

(B) SFA-eX § W% Srewshie TR

% R SEEen # e

(C) = wd g <0 H uRedHl 1 %A
TGSl W YHE

(D) S=a-wia wae | amrﬁﬁ.am
qiegpias IREd

AeTEl-TEAE s gl Al WRRd g

%7

(A) vaEfed AeEl-S% W YeH Tt ST

Tl shH

(B) ®m & faw weH 1 9 @
TG (-

(C) 9% 3T, FHTH a ASgd & A
F yefeld wa ®

(D) (B) a1 (C) 3

P.T.0O.



74. Which of the following statements | 76 Which among the following is not

1s correct in the case of ‘Price-
included in Linear Economics ?

discrimination’ ?

(A) Game theory

(A) Firm’s AR curve remains same

(B) Linear programming
(B) Firm’s MR curve remains same

(C) Firm’s MC curve remains same (C) Input-output analysis

(D) Firm’s AR and MR curves both (D) Neo-classical optimisation

remain same
- 77. Wagner’s hypothesis is related to :

75. BASEL norms relate to :
(A) Public Debt

(A) Central Bank of a Country

(B) Public Expenditure
(B) Commercial Banks

. (C) Public Revenue
(C) Insurance Companies

(D) Both (A) and (B) above (D) Public Undertakings

TBC : AKG-AP(CC)ECO.-2018 36



. . 76. Tre=fafea § | s & fas g

¥ § S 9T WE T ?
| & oo T ¥ 2
(A) w8 1 oftwa e a% AN

T (A) Ba fagr

(B) ®H =1 HH< MTH % HEAH
(B) e wmmA

T ®

(C) amma-frfa fovers
(C) ®H &1 THF AN 9% GHE

@ ¥ (D) - SATFHAAH

D) tﬁﬁ%aﬁuaaqmﬁmxﬁlqmwm |
77. TR T IUHCT F WAH T

‘g% SHl 99 WA ©
75. <9 (BASEL)W?ﬁaﬂIia‘a%: C (A gESTE RO
£ % A -

(A) T&H W & &H5d i o

(B) arfofsass sl |
(C) QEss 3

(C) = st 9
(D) ST (A) e (B) <A1 A (D) WEweh 3T

TBC : AKG-AP(CC)ECO.-2018 37 P.T.O.



78.

79,

In Cournot’s model, if there are
three firms in the industry, each will

produce :

(A) of the market produce

DO | =

(B) of the market produce

Qo=

(C) of the market produce

2
4

of the market produce

D) +
@ 3

[

The rationale of the thebry of Big

Push is based upon the idea of :
(A) Technology upgradation

(B) External economies

(©) Inter;nal economies

(D) Mixed economy

TBC : AKG-AP(CC)ECO.-2018
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80.

81.

F 9
A
D
Price E
P
C B
O M g

Quantity

In the above diagram, the produce’s

surplus is represented by the area :
(A) ACPE

(B) AAPE

(C) AACE

(D) Rectangle OMEP

Which princely state of the Shimla
Hills was the first to join the Indian

Union ?

(A) Bushahr
(B) Mandi
(C) Sirmaur

(D) Theog



78. A1 & Hed #, Aff =M F 9 wH

B, W TAEH FARA DI

(A) FRIR-39E &1

Do | =

o | =

(B) 9NR-3d@E <Al

W |

(C) INR-3UIE <kl
1 5
(D) 9SR-3WE <kl 5 KSR

79. 92 yFh & fogra & sifaw, 1 ¥

q form four @ snuf@ ® 2
(A) wifafas =1

(B) = fadeataard

(C) smafisr Taaeafaard

(D) fufs arefegazen

TBC : AKG-AP(CC)ECO.-2018

80.

81.

F94 p z
C/ B
O M >
HHEAT

IgF o #, saRs &1 sfads =
Hq fra a9 g weidfa & 2

(A) ACPE

(B) AAPE

(C) AACE

(D) 3md OMEP

fergen =t werEl famadl § @ wrdia ¥
H wiinfea 29 Al el o S
dt ?

(A) TR

(B) ot

(©) fawr

(D) fozm

P.T.O.



82. What was the venue of decisive

83.

battle fought around 1814-15

between the Gurkhas and the

Bushahr state ?

(A) Arhal

(B) Krasa

(C) Chirgaon

(D) Khadrala

In which district of H.P. is Sai Kothi

hydel power project ?

(A) Sirmaur

(B) Chamba

(C) Kinnaur

(D) Kaullu

TBC : AKG-AP(CC)ECO.-2018
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84. With which region of H.P. is new

85.

86.

year festival Losar associated ?
(A) Bilaspur

(B) Solan

(C) Una

(D) Lahaul-Spiti

Which one of the following remained
the Chief Minister.of H.P. for four

terms ?

(A) Ram Lall Thakur

(B) Dr. Y.S. Parmar

(C) Prof. Prem Kumar Dhumal

(D) None of the above

Which one of the following places in

H.P. is known for Ski Slopes ?
(A) Soldha

(B) Sarol

(C) Solang

(D) Salooni



82.

83.

1814-15 SHaT & EUTd M@

IR IR e & <= fufas @erE,

s iene®t =81 s fean o, el w8

oft ?

(A) e
(B) shrEm
(C) fagma
(D) =EUH

% fom v 4 % 2
(A) faoir
(B) =%l

(C) fw=R

(D) T

TBC : AKG-AP(CC)ECO.-2018
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84.

85.

86.

79 98 F ©ER AR fTaed wmy &
fog &3 4 Je1 & ?

(A) ToeEgR

(B) Hrer

(C) M

(D) e
frafafeaa 4 § =9 =R =d 9% feamaw
ﬁé‘a & e "l W27

(A) 'm WA SR

(B) 3. TE. TH. THR

(C) W ﬁrréﬁqn I

(D) sfw # ¥ i T

Frafafad 4 9 A v e 12w
" @ W & fae s s ¥ 2

(A) e
(B) &l
(C) wretim

(D) TR

P.T.O.



87. When did the construction of

88.

Hindustan-Tibet road start from

Kalka ?

(A) 1850-51 AD

(B) 1859-60 AD

(C) 1864-65 AD

(D) 1872-73 AD

Near which town of H.P. is Hamta

mountain pass ?

(A) Chamba

(B) Rampur

(C) Kullu

(D) Manal

TBC : AKG-AP(CC)ECO.-2018
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89. Which of the following Lead Banks

90.

has set up rural Self-employment

Training Institutes in H.P. ?
(A) PNB

(B) IjCO

(C) SBI

(D) All of the above

What is the capacity of Gyspa hydro

power project ?
(A) 95 MW
(B) 140 MW
(C) 300 MW

(D) 350 MW



87. hieren! § fegwar-Tassa g =1 faafw

88.

*d Y& LI oar ?
(A) 1850-51 Toa
(B) 1859-60 Suiat
(C) 1864-65 3Ta
(D) 1872-73 sw&l |

THE qdaiy g1 feurae wew & fw

FE H UE § ?
(A) =
(B) THLX

(C) =/

(D) HATE

TBC : AKG-AP(CC)ECO.-2018
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89. Ta=fafiea # 9 faw suroft d= A feurasr

90.

Tel T UrHiv WIS gigreror 9w

i fFd & 2
(A) diuAsl.
(B)

(C) wE.1.3m

D) 3Tfe woft

Torem sta foga ufelisn =1 e ==

g 2

(A) 95 TrmETEe
(B) 140 ATER |
(C) 300 HETEe

(D) 350 AMETE

PT.O.



91. What is the title of the documentary

92.

on Nirbhaya episode ?
(A) Brave daughter
(B) India’s daughte?
(C) Fearless daughter

D) Gudiya

‘With which state/states does Article

35A of the Indian Constitution

deal ?
A) J & K
(B) J & K and Nagaland

(C) J & K and Manipur

M J & K and Arunachal

Pradesh

TBC : AKG-AP(CC)ECO.-2018
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93.

94.

Which Chairman of Central Board
of Film Certification was recently

removed f_’rom office ?
(A). Dina Natlj Batra
(B) Pahlaj Nihlgni

(C) Prasoon Joshi

D) Réjiv Pratap Rudy

What is. title of Sirsa based Dera

Sacha Sauda’s mouthpiece ?
(A) Pura Sach

(B) Sach Boloon

(C) Sach Kahoon

(D) Sach Bataun



91. fAdar e W ot SEgHS &1 IMHE | 93, Hod A2 3 fhew weifray= = ==

¥ T ? HAR H TA & H U€ § T2 7= 2
(A) 39 ER (A) MY S

(B) sfearg =R (B) Tea fFreaH

(C) e =l (fraem ef) | (C) wgA i

(D) Tfsa | (D) TS Fard &€l

92. VR Higu™ 1 o= 35A fra/fea | 94. o feum < o= dim1 & g@-w =

TeE/TeEl | wreifag ® 2 w1 ¥dE ¥ 2
(&) R @A) woEE
(B) SW-THR SR AMAUS | (B) &9 =ief
(C) ST SR Al (C) Wa g
(D) S-HYHR R = QW (D) 99 §ar

TBC : AKG-AP(CC)ECO.-2018 45 PT.O.



95. Approximately how many military

96.

97.

(agricutural) farms are being

shut-down by the Govt. of India ?
(A) 29
(B) 39
(C) 49
(D) 59

Which country’s President is Michel

Temer ?

(A) Mexico
(B) Argentina
(C) Peru

(D) Brazil

Where was the wreckage of U.S. war-
ship, USS Indianapolis, which was
sunk during World War II, found

recently ?

(A) South China Sea
(B) Philippine Sea
(C) Red Sea

(D) Caspian Sea

TBC : AKG-AP(CC)ECO.-2018

98.

99.

46

100.

Appro}dmately how many cities in
the world are in the UNESCO's list

of heritage cities ?
(A) 50

(B) 150

(C) 200

(D) 250

Who is the CEO Iof 2018
Commonwealth Games ?

(A) Levon Aronian

(B) Pet_er Nielsen

(C) Mark Peters

(D) Naoya Tomita

To which country does the girl who
master-minded the Blue Whale

Game belong ?
(A) China |
(B) Russia
(C) France

(D) Italy



95.

96.

91.

YRd WER g0 e fean fafad
(Ff8) v s fFe ST W § ?

(A) 29

(B) 39

(C) 49

(D) 59

skl o fh| 91 & U=U § ?
(A) HfermeRt
(B) ST
(C) &
(D) oS

U, S g8 HegS & H S9 T
o1, 1 Tl & & H el Hen § ?

(A) 98y =H 9T
(B)ﬁr—wﬁtﬁaﬁw
(C) = IR

(D) Hfegem T,

TBC : AKG-AP(CC)ECO.-2018
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98.

99.

forva & rerT foha™ IR Foeen! i Bliew
IRl H g H § ?

(A) 50

(B) 150

(C) 200

D) 250

H I T waed @9l &
WE.eh A § 2

2018

(A) oaq sRIfTae
(B) diex e
(C) @reh died

(D) s difte

-100. = = T 1 IRHTTT H AT dSH

frm 3w =1 ® 2
(A)Eﬁ?
(B) 9
(C) W

(D) s'aa"r

P.T.O.



